DJC-STS3000B | DJC-STS3000P

Developed and manufactured by Yorkshire Laser & Fabrication Ltd, Unit T New
Court, Mildred Sylvester Way, Normanton, Wakefield, WF6 1TA, United Kingdom
on behalf of AlphaTheta EMEA Ltd

Box Contents:

X1 Domed M8 nut - MS BZP

X1 Socket head cap screw M8 X70mm BZP
X3 DIN 125 nylon washer 8.4 x 16x1.6mm
X1 65mm open clamp handle M8 X 15mm
X4 3 x 25 PAN POZI| screws

X4 M3 x 9 x 0.8mm washers

Assembly instructions:

1.
2.
3.

Remove items from boxes.

Remove stainless steel tube from the DJC-STS3000B.

Secure stainless steel tube to DJC-STS3000P using M8 socket head cap screw, 2
nylon washers and M8 dome nut.

Fit nylon washers between stainless tube and plate bracket before fitting clamp
handle to tube.

M8 screw assembly to be finger tight

Refit plate 2 complete with tube back in to DJC-STS3000B

CDJ-3000 fitting instructions :

|

|

Position unit over location standoffs
Secure unit by fixing with 4 screws and washers

Disclaimer: Pioneer DJ is not liable for any damage or injury caused by incorrect
installation or improper use. This plate should only be used with the DJC-
STS3000B & CDJ-3000

Proneer Dy



DJC-STS3000B | DJC-STS3000P

Assembly instructions:

- i A (0.80.1)
=) I = _ \
S mEEST (L D.JC-STS30007 ) \

| I \
m Nylon washers both sides of ﬂ \
screw assembIX/ | \
/ N ~

Domed M8 ni h

3 Socket head cap screw M8 x 70mm

|
|

|
‘ |
/
/
/
/
/
/

Important: Nylon washer must be
positioned when assembling

between the stainless

steel tube and the DJC-STS3000P |

/
/
/
/

Sta’iﬁnless steel tube

® DJC-STS3000B

Fixing screw mounting holes X4

\\// 65mm open clamp handles

i

= Vibration resistant foam base

S——

{

Proneer Dy



